Math 306 Term 3 Test 2

Volume & Area of Solids

 
50 Points

Name: __________________________________________________
 



Group _____

Answer all questions in the blank spaces provided. When required to use 
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, use 3.14 instead of the 
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 function on your calculator. Also, round numbers to two decimal places. 

Section 1 - True/False: Use a “T” for a true response and an “F” for a false response.

1) _____Lateral area is always included in the calculation of volume.

2) _____ Another term for surface area is total area.

3) _____ The same formula is used for calculating the lateral and total area of a sphere.            

4) _____ The apothem of any regular polygon is the longest distance from the centre to an edge.

5) _____ If a prism and a pyramid have congruent bases and the same height, the pyramid will have 3 times the volume. 

Section 2 – Find the area for each of these basic shapes (bases) and show your work. 
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6) & 7) __________ 

                                                          8 m

                                               7 m

                    

___________________________________________________
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5.5 m

 

40 m

 

8) & 9) __________ 
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                                                8 ft                           6 ft
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5.5 m

 

40 m

 

                                                             8 ft

                                6 ft

                    

___________________________________________________

10) & 11) __________       

                              3 mm                      8 mm


         ___________________________________________________

12) & 13) __________     3 m

       
                                 2 m

Section 3 – Find the lateral area  (LA), total area (TA), and volume (Vol) for each solid shape shown below and show your work. 


                                              10 mm   
 14) & 15) LA = __________                        

16)          TA = __________                     7 mm

17) & 18) Vol =__________

 19) & 20) LA = __________

21)          TA = __________                         8 dm
22) & 23) Vol =__________ 
                                                                  6 dm

 24) & 25) LA = __________                                20 m (slant height)
26)          TA = __________

27) & 28) Vol =__________

                                                         24 m square base
Section 3 – (Continued)

 29) & 30) LA = __________

31)          TA = __________                                         30 cm
32) & 33) Vol =__________                                         100 cm

                                                      28 cm       base
 34) & 35) LA = __________                 11 cm
36)          TA = __________

37) & 38) Vol =___________

Section 4 – Fill in the blanks: Replace each smiley face with the appropriate word.

39) ____________________ ☻area is the area that includes the base or bases.

40) ____________________ Twice the value of the radius is equal to the ☻.

41) ____________________ Instead of the regular height, the ☻height is used to calculate the lateral area of a cone.

42) ____________________ A regular polygon with six sides is known as a ☻.

Section 5 – Problem solving. Show your work.

Plants and flowers that are used to beautify Montreal's parks are grown in the many greenhouses of the Botanical Gardens. One greenhouse is in the shape of a half-cylinder with radius 5.5 m and length 40 m. If each plant grown there requires 1.25 m3 of air, determine how many plants can be grown in the greenhouse (Note: your answer must be a whole number because you can’t buy a part of a plant!), and determine the amount of material required to cover the front and back of the building.

43) & 44)_______________ plants can be grown in this greenhouse. 

45) & 46) _______________ m2 of material are required to cover the front and back of the building.



Determine the total area and volume of this shape.

47) & 48)  TA = _______________ cm2                                                                       

                                                                                                                                      4 
                                                                                                                                                                   10

49) & 50) Vol= _______________ cm3 
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